Model PC100 Meter
Mount

Industrial Process Controller

Repair
Parts

36

1" & 2" OP REAR DRIVE

% BadgerMeter, Inc.

RCDL METER

IRP-034-11
PartNo. 53401-034

2-06



ORDER INFORMATION: This repair parts bulletin shows an exploded view of the product with specific reference to those items available
for replacement. The item number and part number may change at any time; therefore it is important when placing an order that a complete
description of the part, meter size, model, and serial number be provided.
ITEM
NO. PART DESCRIPTION PART NUMBER
1 Protective Cover, PC Controller (Optional) .........coooeiiiiiiieiiiiiiiee e 58689-001
2 Process Controller, PCT00 ........uuueiiiiiiiiieee e e e e e e e e e e e e e e e e e e e naanes Note 1
3 Screw, 1/4-20 X 3/8", PC BEZEI .....c...uueeeieeeeeee ettt 55072-276
4 BeZel, PC HOUSING -..eeiieieiieiieeetie ettt e e st e e ae e e e snteeeenneeesnneeeenneeeenns 58691-001
5 Tetraseal, PC Bezel t0 HOUSING ....oooiuiiiiiiiiecee e 22559-042
6 Housing, PC Meter MOUNT .........ooi it e e st e e e 56564-001
7 SCIEW, B-32 X /4" ettt e e e ettt e e e e et e e e e e e b b e e e e e e eabaeeaaaan 55129-168
8 Lockwasher, External TOOth #6 .........cccooooiiiiiiiiiceeee e 55281-007
9 PC Board, FT 420 ASSEMDIY ...ooiiiie e see e e e e e nneeeennee 64199-001
10 Tetraseal, Housing Base, PC Meter MouNnt.........cccooiiiiiiiiie i 22559-016
11 Bolt, Hex. Head, 1/4-20 X 7/8" ...ttt e et e e 55030-113
12 Enclosure Assy., w/0 4-20 ma PC Board ..........ccccccceiiiiiiiiiiin e 58751-002
12 Enclosure Assy., with 4-20 ma PC Board ............cccccocviiiiiiiiiiniicccccccce, 58751-012
12 Enclosure Assy., with 4-20 ma, PC Board Remote ............cccccocoviiiiiiiiiciiciccce, 58751-011
12 Enclosure Assy., w/o 4-20 ma, PC Board Remote .............cccoviviiiiiiiiiiiicinn, 58751-001
13 Adapter Assy., Right Angle PC Meter Mount (Without 4-20 Board) ...........cccccuvenneee. 58954-001
14 Tetraseal, PC 10 AAPIEr .....ccoi it 22559-034
15 Bolt, Hex. Head, 1/4-20 X 1/2" ... ettt a e e e 55030-110
16 Adapter, Right Angle Machined ............coooiiiiiiiii e 58712-001
17 Gasket, Adapter 10 METET ........oiiiiiiieie e e 33790-000
18 Screw, Fill. Head 8-32 X 1/4" ...ttt e e e a e et aa e 55089-114
19 Lockwasher, Internal TOOth #8 .......co.uiiiiiiiiiiiie e 22562-004
20 Reed Switch Assembly, Pickup FT-1 ... 62704-001
20 Electronic Sensor Assembly, for OP Meters FT-1E ........ccccciiiiiiiiiiiniiic e 62704-002
21 Reed Switch Adapter, Assembly, 2" and 3" Turbo (Note 2) .......ccooveeeviiiiiniieeiiieene 62946-001
21 Electronic Sensor, 2" and 3" TUIDO .......oooiiiiieieeee e 59672-001
21 Reed Switch Adapter, Assembly, 4" Turbo (NOte 2) .......ccccviiiiiiiiiiiiic e 62946-002
21 Electronic Sensor, Assembly, 4" TUIDO .......coocueiiiiiiiiiiie e 59672-002
21 Reed Switch Adapter, Assembly, 6" Turbo (NOte 2) ........ccceiiiiiiiiiiiiii e 62946-003
21 Electronic Sensor, Assembly, 6" TUIDO ........ccceiiiiiiiiiiii e 59672-003
22 Tetraseal, PC t0 AQAPIEr .....couiiiiiii ettt e e e e enee e e enneas 22559-034
23 Spacer, REGiSTEr BASE ......coiuiiiuiiiiiiiie et 57337-001
24 0O-Ring, Register Base, BUNa N ..........oooiiiiiiieeiie e 55300-110
24 0O-Ring, Register Base, EPR .......coo i 31132-046
24 0O-Ring, Register Base, VItON A ...t 31132-045
25 Retaining RiNG (316 S.S.) ..oiiiiiiieoie e s e e 22886-012
26 Bolt, Hex. Head 1/4-20 X 1/2" ... ettt e e ebaee e 55030-110
28 Reed Switch Assembly, Pickup (NOt€ 2) ......c.coiiiiiiiiiieiie e 62704-005
28 Electronic Sensor Assembly, for SC-ER or RCDL Meters ......cccoccveevciieviieeesieeens 62927-001
31 Sealscrew, Bronze AdapLer ..o 22533-004
34 Acorn NUt (3 N€EAEA) .......iiiiiiiie e 22085-000
35 SHUA (1 NEEAE) ..ottt een e ne e 24191-011
36 STUAS (2 NEEAEM) ...ttt 24191-014
37 Adapter, Reed Switch, Bronze Assembly (NOt€ 2) .......coceeiiiiiiiiiiiiiiiieeeieeiee 62737-002
37 Adapter, Electronic Sensor, Bronze AsSsembly .........cccccooiieeiiiiiiiiie e 62737-001
38 Adapter Housing, BrONZe ...........ccoiiiiiiiiiie e 58091-002
39 Sealscrew, Bronze AdapIer .......c..oo i 32140-000

Note 1: Refer to Industrial Accessories Price List (IPL-205).
Note 2: These reed switch assemblies are used only when FT420 PC boards are included in the total meter mount assembly.

)

MANAGEMENT SERVICE

1S0 9001

Due to continuous research, product improvements and enhancements,
Badger Meter reserves the right to change product or system specifications

. without notice, except to the extent an outstanding contractual obligation exists.
Please see our website at

www.badgermeter.com BadgerMeter, Inc.

for specific contacts. P.O. Box 245036, Milwaukee, W| 53224-9536
Telephone: (414) 355-0400 / (877) 243-1010
Fax: (414) 355-7499 / (866) 613-9305

Copyright©Badger Meter, Inc. 2006. All rights reserved. ® www.badgermeter.com




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /ENU (Use these settings to create PDF documents with higher image resolution for improved printing quality. The PDF documents can be opened with Acrobat and Reader 5.0 and later.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


